PAGE  

附件8

Risk communication exercise: 
The Ministry of Transportation in your country recently imported a type of plant to be used on roadsides to prevent soil erosion. The plant, “creeping land vine” (Vinus copius), is a fast growing perennial vine that rapidly spreads over large areas of ground, sending roots deep into the soil (hence its use to prevent soil erosion). Reproduction is both vegetative and sexual. Vegetative reproduction is through rhizomes and runners. Sexual reproduction occurs during the dry season when the plant forms small pods. These pods burst open and produce seeds that are easily windborne, adding to the dispersal ability of this plant. 
According to the Ministry of Transportation, this plant has done an excellent job of preventing soil erosion near roads. They are counting the “Creeping Land Vine Project” as a major success. Unfortunately, your service is now receiving complaints from farmers in the area claiming that creeping land vine is reducing production of crops. In addition, an environmental lobby group is concerned that creeping land vine may invade a major conservation area in your country, causing widespread environmental harm. 
A risk assessment indicates that this species has the potential of becoming a serious weed of several economically important crops in your country.  Additionally, the risk assessment states that in some (but not all) other countries where creeping land vine has been introduced, it has become an invasive weed, out-competing native vegetation. 

Before making a risk management decision, you decide to conduct a stake holder consultation. Taking into account what has already been discussed in this meeting and drawing from your own experience:
1. Identify the purpose and objective(s) of the communication.
2. Identify your target audience(s) or stakeholders and identify specific information you wish to communicate to the stakeholders 
3. Consider and identify what information you may need to obtain from your audience / stakeholders (keeping in mind that risk communication can involve an exchange of information rather than a one-way flow of information
4. Identify what approach(es) you might use to try to balance the opposing points of view in this situation. 
COMMUNICATION STRATEGY FOR CREEPING LAND VINE
Purpose:

Objectives:

Target audience:
Key messages: 
Key input(s) required:
Recommended approach(es) (use back if needed):
Additional Questions:

Which of the three risk communication types did you use in the situation above?

How might you use the other types of communication in finding a solution to the creeping vine problem?  
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